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20109
Paper : Com-GE-1046

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer the Questions from either Option—A or
Option—B

Answer either in English or in Assamese
OPTION—A

MICROECONOMICS
( Honours Generic )

Paper : Com-GE-1046 (A)

1. (a) Choose the correct answer : 1x5=5
w7 Geq0h q1fR Sfeeey -
(i) What is the root cause of economic
problems?
IffE STE 371 9 2

(1) Investment

e
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(2)

(2) Savings

A

(3) écarcity
gl

(4) Population
GRIN

(ii) If supply is fixed, then market price
is determined by

W @ FaEeEe A, ofed IwR W™
s 3

(1) demand

EIRG|

(2) income

S

(3) cost of production

TR AR

(4) supply
QA=
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(3)

(iti) The total area under the demand
curve of any goods measures

R @I w9 SRR ©I R g G
2'q
(1) MU
afess Sefaoren
(2) TU
5 Sl
(3) consumer’s surplus
(STe[ tge
(4) producer’s surplus

T g

(iv) If the price of Pepsi decreases
relative to the price of Sprite and
7 Up, then the demand for

Tt oo W =2 WF 7 Upd gore

211 *|, cofe

(1) Sprite will increase
=259 v 3 29

(2) 7 Up will decrease
7 Upd vifzm 271 2’3

(3) Sprite and 7 Up will increase
=425 W 7 Upd oifen & 23

(4) Sprite and 7 Up will decrease
=236 W% 7 Upd bIfew 2 23
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(4)

(v) The shape of the demand curve
faced by a firm under perfect
competition is
sd-afsafiee w@me Im b
QYC TR Al BIRAIIR S 7°9

(1) horizontal

Sl
(2) vertical
TeTg
(3) positively sloped
SCIE SR GISIRE
(4) negatively sloped ¥
YT OTERI12
(b) Answer the following questions : 1x5=5
Soq 2PCIRA eq A
iy What is demand function?
oItz T 6 2
(i) Give an example of implicit cost.
RS IR «ft Trrzae fran |
(i) What is selling cost?
R 2
(iv) State the law of demand.
wifzw R fora |
(v) What is break-even point?
oS Ser [ 2
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(5)

2. Answer the following questions in brief :

2x5=10
o AR ST Ted i
{a) What is microeconomics?
e w4 2

(b)) What is the difference between fixed
cost and variable cost?

&3 T8 W “RaSe1 TR Trew 1 {2
{c) State the relation between AR and MR.

518 @ o O oiifes R SR o fora |
(d) What is Engel curve?

eeEE 391 %2

(e} What do you mean by ‘excess capacity’
of a firm under monopolistic
competition?

TR dferirerEe @rRe TP efedn
a3 “wfefe el et ot [ @ e

3. Answer any four questions of the following :
5x4=20
T R e Bife! erR e for
(a) Write a note on opportunity cost.

ST AR ecFe «ft GrReT fEre o

(b) Discuss the properties of indifference
curve.

FRers @R EFNERER SIEa 949 |
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(6)

(c) Explain the possibilities of price
discrimination under monopoly.
GFOHT FaRS W@ ReSTFIR TBRATOrTE
0T =40

(d) Discuss the different types of
production function.
fafen APrRa Tesime T S 41 |

(e) Write a short note on ‘economic region
of production’.

TeoMad SLAfST Swe’s goe «ft 5 (G

forn 1
() Explain the concept of cross-elasticity of
demand.
vifzr e BfSreimom d=ersr ar<n 41 |
4. Answer the following questions : 10x4=40
o4 TR Bed fep

(a) Explain the different methods of
measurement of price elasticity of
demand. Mention the importance of
price elasticity of demand in decision-
making of a firm. 6+4=10
oIftwe W fEfemeRre #f{we| srafeER I
411 TP b 3R Frar azae b
4 fEforeren geg w741 |
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(b)

20A/536

| W9

a

Or / 9941

Explain why an indifference curve for
two normal goods is convex to the
origin. Show with the help of
indifference curve, how a consumer-
attains equilibrium. 4+6=10

71 FreIiE ¥R cFae (aer® @41 o [
o1 R &ifS Tee 7 feers (@9 STREe cere
GO (RFTATCI ST =[S FCI, YAl |

Distinguish between ‘Teturns to factor’
and ‘returns to scale’ in the context of
production function. Discuss the laws of
returns to scale. 5+5=10

T T TS TAMER  ofRE W
OfPRT Aot e igedn | SRS
sifemri ffETR e 4 |

Or / F4]

Define isoquant and isocost. Explain
producer’s equilibrium with the help of
isoquants. 4+6=10

Y-S SF AR A A7 | TRAMST
SRAM] -8 (Y] SRES A F9

{ Turn Over )



(8)

() What are the basic objectives of a firm?
Discuss how a firm maximizes its profit
under perfect competition in short run
and long run. 4+6=10

I Afesm @ (fee S [ 2
A-zfeafienee Tame G Afedm 93
TR g7 feEe @ THiRe A
S A, AT 4 |

Or / F11

Illustrate the effects of taxes and
subsidies on demand and supply. 10

I S @R S9ES F9 EIE e G-
AR (ST AR (R, eica SCemnl
41

(d) What are the main features of
monopolistic competition? Discuss the
price-output determination  process
under monopolistic competition in long
run. 5+5=10

¢FRFR eferafienee qara gam JFEEPHR
fe 2 woiReR afecafroner Tame TFEm
w9 = A dRe afemdd sEa 791 |
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Or/ 93{]

What is oligopoly? Explain the
price-output determination process

under price leadership in oligopoly.
4+6=10

w5 Rrred T@” 5?7 T8 Roor I@Rs
T-(TPgd SRS 7@ O EA R s
17 1
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(10)

OPTION—B
INVESTING IN STOCK MARKETS

( Honours Generic )
Paper : Com-GE-1046 (B)

1. Answer the following as directed : 1x10=10

TRt were frarmze Tes 91 -

(a) “The basic objective of investor is to
minimize the risk and maximize the
return on investment.” Write whether
the statement is true or false.

ST RIS @ ST TS S FACOIA2
2’5 REEISERA o1 o7 177 o3 Bfethl o1 T
fagy fovan o

(b) In India, mutual fund scheme was first
started in
TOS AH SLARER ff St WS (2
(i) 1964
548 TO
(i) 1987
S8 B[O
(i) 1992
S B9
(iv) None of the above
GO 9bIS W=
( Choose the correct alternative )

(== R aift Sfiea )
20A/536 ( Continued )



(11)

(c) Which of the following features is not
associated with the open-ended mutual
fund?

TR (T (RS Te-ARe StAzen e
NS TS 724 ?
(i) It has a fixed maturity period.
TR «B1 T RS SR =g |
(i) The investors can subscribe their

fund at any time.
R @ @ e @8
4 Y5A A1 |
(ii)) It provides prompt liquidity to
investors.
2 RfFseRe ol o5y owH I |
(iv) The investors have an option to
redeem their holding at any time.
e’ & @ Swe (@dE
4 R AT AT |
( Choose the correct alternative )

( == st Afs Tferear )

(d) Which of the following is the oldest
Stock Exchange of India?

TR (S TRed HbiRele [ B R
FT?

(i) Calcutta Stock Exchange
el 85 /i 5
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(12 )

(i) Ahmadabad Stock Exchange
e 8¢ [ @m
(i) Bombay Stock Exchange
@1cE &3 [y
(iv) Gauhati Stock Exchange
A 8% fR[fm @
( Choose the correct alternative )
(o st i Sfere )
(e) Who is the regulatory authority of
Indian Stock Market?
SR ST WA gl SRR @ 2

() Which of the following is related in case
of market order of investor?

e (@l REEseRr w8 fore e
ve ?
(i) To buy shares at lowest possible
price
STy T 7S G T I
(ii) To sell shares at highest possible
price
e S 7S sl R 4
(iii) Both (i) and (i)
(i) S (i) TS0 AAE
(iv) None of the above
82T GHIS T
( Choose the correct alternative )

(m fReacdr qfe Sferear )
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(13)

{g) Write the full form of CRISIL.
CRISIL-3 4J<f e{CB1 &1 |

(h) Which of the following is the feature of
derivative?

fafRe @mon cRshs/vgs 7R R
A7
(i) It is an instrument whose value

depends upon the value of some
underlying assets.

T Qo1 TR I YW A SR
AT R ST ST T |

(i) It arises out of a contract between
the two parties.

3 701 /] P 711 Ted =W |

(i) It may be of financial or commodity
derivatives.

% R a1 T@or Tgo Al 29 T |

(iv) All of the above
879 IR0

( Choose the correct alternative )

(wm Resch A Sfiea )
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G
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(14 )

“Security market is a market for equity,
debts and derivatives.” The statement is

(i) True
(ii) False

“ofSplS I TH ARG, YD HF TgS
AR TR 177 @ TS

(i) 39
(i) T
( Choose the correct alternative )

( = R e Sferea )

Liquidity ratio of a company basically
consists of

@A ©le S afds =
(i) current ratio
BfeT® SRS TN
(i) Acid test ratio
wf2) A
(i) Both (i) and (i)
(i) S (i) T=H< Al
(iv) None of the above

S7[Fq Qb1S =

( Choose the correct alternative )

(o= s M Sferear )
( Continued )



(15 )

2. Answer the following questions in about 50
words each : 2x5=10

weq AfSh A¥R ATSIRE A ¢ obl I e foeqe
Taq 997 :

(a) Give the meaning of investment.

fafecem sl e fea |

(b) What is online trading of stock?
AeRa 8% T el 6 @ 2

(c) Define NAV.
NAV-T & e |

(d) What is commodity derivatives?

TBore T A1 2

(e) Give an idea of primary market.

35 IR TACE @B e o

3. Answer any four questions of the following in
about 150 words each : 5x4=20

g 1 @A B 269 ATORE AW Seobl Wi
*aq fooqe Teq 91

(a) Explain the procedure of buying and
selling of securities in the stock market.

e GRS Afeefe Fu-Rere et 3
1 |
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(16 )

(b) Mention the four ratios generally used
by investors to evaluate the
performance of a company.

@Al GOR FFerel MRS AHRIce ame
=1 BIRGT SFes nfeen Soay = |

(c) Write a short note on the history of
mutual fund.

TReE e e eme 9B B BRI
feran |

{d) Describe the factors affecting the choice
of mutual fund.

oo A% fFribTe geiffe @d SAmeTR
AT 47 |

(e) Briefly explain the participants of
derivative market.
Tge AR IWEAS AR A T
q9fel] 1 |

(i Write an explanatory note on the
following :

fafeRes eoqe b1 Remas G far

Load and no-load mutual fund
T E SIS SO
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(17 )

Or / 94|

IPO and FPO
i3, 9. . 9 %, f4, ..

4. Answer the following questions in about
600 words each : 10x4=40

©od AfST0l A AT AW voobl T *7 foegs
Taq 91 :

(@)

(b)

20A/536

What is meant by mutual fund? Explain
its advantages and disadvantages. 2+8=10

TRl % o & @0 TR AR we
SfREPTR 361 41 |

Or / 9241

Explain four types of instruments that
are used in investment of fund. 10

A& Ritcasre araze vy sfem R o
1

Discuss in detail the functions of capital
market. 10

T4 TG IR [PTSICE A F4T |

( Turn Over )



()

(d)

20A /536

(18 )

Or/ 9341

Explain the various tools used for the
analysis in the future prospect of a
company. 10

@A GoR Sfdge 1 AT srme R[fen
ReR AfEErYEa R o

In which year SEBI came into effect?
Also point out the principal functions of
SEBI. 2+8=10
SRee (2R FfoR I T AR @[]

Te RGN TrEe 40|

Or/ 241

Distinguish between : 5+5=10
of1efa fora -
(i Open-ended mutual fund and
Close-ended mutual fund
AR SIS i
(i) Limit order and Market order

Shfire e o M e

What is meant by forward contract?
Also point out the distinction between
forward contract and future contract.

4+6=10
werer pfe e & @ e pfe ue
SR pfed qrere 4T 2Tenhle (e |

( Continued )



(19 )

Or/ H31

Write notes on any two of the following :
5x2=10

el R (I o Il 39S 91

(i) Benefits of credit rating
@5 (afbss FRePER

(i) Common mistakes while investing
RfAceR e T41 4RG3z

(iti) The role of broker in stock market
2ifSefS Tee e Bl

(iv) Price Earning ratio

P. E. Sile

* % &
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